SuMPO SuMPO EPD SUMPORESANINTOY S A

Ak —RALEIEAY AT T TR EH RS
ol ;U.oE PD SA4TNIBIEEE (EPD) ERGBTFRERXAME-14-8
'Y VERIFIED KANDA SQUARE GATE
E8ES © JR-BW-25002E https://ecoleaf-label.jp
BABSHFHASH Bk FAMBERIEASR IJ7A4T7 34TSR
(Nippon Electric Glass Co. , Ltd.) (Heat-resistant crystallized glass for fire door / FireLite Plus®)

BEEHENM ERES JR-BW-25002E
, EHAPCRES  PA-171190-BW-02
B2 1maHpizy \
PCR% MITAHSA (hREEH) [5E24R]
BEMRERE 2~FA 2025548 1H
ORIREF W e RIEFEEHEH 202518308
EMREAE, R EoEx, Saoslis WA R B SmAIREE A R
RIEES JV-BW-25002
WErEShEAR 2030418298
HWRoRK, TELHK-FEx PCRLE1-DETE
FELRBEY b AR KRBEREE $ESREES =SEHZ 20234 98 1H
HEOEH T #9103 £8E LB @
Ha0 L MHLIDER  #923ke (— R EE A AT F T IR S )
BREOMIAE HRAEMIBLUEDEMNT 5= EIREEE
BRORE BEEAR NEBIREES R EZ
1ISO140258 £ U1S021930I > AE ERUT-IDIMIILE
i
OAER W /LEB
*AF LREIE S I EENORIDB A, YAT LRI LBESD
2 BEDH,

EilAY=Yslce
AABSHEFMHRASHE IYVI-V-HIABELE SERIEL
TEL:077-537-1700 FAX : 077-534-2387

E5&ES 1 JR-BW-25002E



SuMPO EPD SUMPOEBERIEIANINTOIS A

SEuMl':’;?’D o — B FE AP AT T IR E HEE
‘@ .. JAPAN g{jllliﬁiﬁﬁg (EPD) ﬁﬁ%ﬂ?ﬁﬂﬂ@?‘]@ﬂﬂ']—M-B
VERIFIED KANDA SQUARE GATE

FixEFS ¢ JR-BW-25002E https://ecoleaf-label jp

O317Y 17 )V 2 E ik R

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 110 | kg-CO2eq 4
742 0.088 | kg-SO:eq 6
BERHE 0.020 | kg-Sbeq
EAL [RHOMZE mA2 TIHFETOHZE nA3 Haodd
=H IHB| B &5t M1 EROEE| A Tsicomz|A3 REomE
URZEE kg-CO.eq | 1.1E+02 | 6.6E+01 2.3E-01 3.9E+01
AV EHEIE kg-CFC-11eq| 7.3E-05 5.3E-05 3.1E-12 2.0E-05
igcd|e kg-SOzeq | 8.8E-02 5.4E-02 2.9E-04 3.3E-02
i ARUESE kg-SOzeq | 5.4E-02 3.2E-02 1.1E-04 2.2E-02
FHALFZAFI IV kg-CzHseq | 1.5E-03 8.8E-04 8.3E-07 6.0E-04
BEFMEFNAMKE) kg-CeHseq | 4.6E-02 4.5E-02 1.1E-06 1.1E-03
BECFEYE(EM) kg-CeHseq | 1.4E-02 1.4E-02 7.5E-07 1.3E-04
KEERES kg-CeHseq | 1.9E+01 1.9E+01 3.7E-08 5.8E-02
Rt REE T kg-CeHeeq | 4.8E+02 || 4.8E+02 6.1E-07 1.3E+00
EREL kg-PO.*eq| 2.4E-04 2.3E-04 2.4E-12 7.9E-06
+ Ho R A (HERT) m*/ & 3.2E+00 || 2.9E+00 6.1E-03 2.5E-01
T #F) B (EE) m*/ & 1.9E-02 1.3E-02 1.2E-04 6.0E-03
ERHE kg-Sbeq 2.0E-02 2.0E-02 9.6E-07 2.6E-04
@) e 22 5 5y ©) Y B ([CES9 AREELE
IEH B MR8 (ERES) Bifi
FEBEMEEER 1.4E+01 kg Si02. Al203, Li20 55 %
FEHFERREIRILY - 4.0E+01 kg Zoft (A3ZAHNLYAED) 38 %
FEHFERREIRILY - 1.8E+03 MJ TIAFVI T4 4 %
BEARER 6.8E+00 kg TR a 4 %
BAAREIRILF- 3.2E+02 M)
HRKDHEE 2.5E+00 m?
PEH, CO2UbREREXR), AT, FE | 9.9E+01 kg
R, FUH, 44.7M/kg, Bet, B TR LF- | 7.4E+00 kg
PE, BRUEERAY, AT, FEE | 1.9E-06 kg
ng T EAPE S
IEH Bify
BEREZEY 0.0E+00 kg
mEREZEY) 1.1E+01 kg
—RXBEZEY) EBIY 4.1E-10 kg
EXREZEY By 1.1E+01 kg

HIMTYAIWICBI2REYMREERLTVET,



SuMPO SuMPO EPD SUMPOBRIESAILTOI S A

_ E P D _ — AR AP AT F T IR HEE A
| 'o S4TNIBIEETE (EPD) HEMTRERAMET-14-8
VERIFIED KANDA SQUARE GATE
FixEFS ¢ JR-BW-25002E https://ecoleaf-label jp
OEERRICEATZEMIEIR
IRNF—ERAOEE 2126MIEBRVET,
©-1.Z0MDRIEREEIEIR
ISO14001RE LB CEELTVNET, TRLE—ERE
BE, IRNF-EROANRIL £EBY _
©-2.5EYECET 315K
15H CAS No. ESE
B7L

OERALEZRT-9DER A
IDEA ver3.1.0&{ERA LT,

®fF%E

OT-YHEENDAH K. PCRELUVETE - EEMREESRBL TS,
OLLR(IDVWTE, BE ESRBICHEINLFHERILESELLIRDENEE A,
(BHEJURL : https://ecoleaf-label jp/regulation/)

¢
i
B
Jio

- JR-BW-25002E



